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Risolvere le seguenti disequazioni.

1. Numeriche intere:
a) 254z — 1) + (z — 5)2 > 0
by Bt o a2
¢) (z+5)(z* —5x+25) < (v +5)3
d) (z+5)?—(x—1)2x+1) > 13(z +2)
e) (a+3)z* —2ar+a—3>0; a> -3
2. Frazionarie:

a) 522 —3z—2 >0

9x2+152—6
1 2
b) s (G5 +3) <1+ %
2 1 24z
C) 5 (:Jc 2 1) 5(x2+x—6)  x+3
z2—2 z+2 1
d) 3 —2x2+4x—8 + z2+4 2 z—2
3t3T | 3 _ 4a45
e) _1 + 2 < 2
x—2
2r—a a—2x
f) P o >0, a€eR
) V3rt+4+vVz+1 <1
&) avaritn =
3. Moduli:
x+1 x—1
a) ErT e > L

|[4z—1|+22
b) r+1

c) wx—fn+2x>|x+1|

> 2

d) /22— Ja[ + 22 >0
4. Logaritmiche e esponenziali:
a) YEte -l >

log(z+1) =
log Va 2-‘-1 1
b) :c+1 > 0
c) 28s( lo;(x 1(1g)2(x+1) <1
d) logl(:p —5)— log%(a: +1) < log%(%v +3)
e) 2:0«%4472;/:131 T Z 0

5. Trigonometriche:
a) . sinz >0

SINxX—Cosx —

/sin 2z—1
b) 2—cosz >0

2sinz—tanzx <
C) cosr—sinx — 0
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